Course: IBPS Main 2020

Subject: Wrong Series & Quadratic Equation
Time:15 Minutes
Published Date: 18 November 2020

Direction (1-7): feaifaf@a & 715 wear H@en & saq 9g @ Hifow

Q1.124, 145, 258,801, 3268, 16465, 99006.
(a) 145

(b) 258

(c) 801

(d) 16465

(e) 3268

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Q2.4755, 4674, 4553, 4384, 4158, 3870, 3509,
(a) 4755

(b) 3509

(c) 4553

(d) 4158

(e) 3870

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Q3.1463,1620,1729,1801, 1843, 1863, 1869
(a) 1463

(b) 1801

(c) 1843

(d) 1863

(e) 1620

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Q4. 5140, 10240, 10240, 5120, 1280, 160, 10
(a) 10240

(b) 1280

() 5120

(d) 5140

(e) 160



L1Difficulty 3
QTags Wrong Series
QCreator AYUSH PANDEY

Q5.8327,6611,5621,5117,4907, 4848, 4841
(a) 6611

(b) 5621

(c) 4848

(d) 4841

(e) 8327

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Q6. 40, 20, 24, 55, 202, 991, 5926
(a) 24

(b) 55

(c) 40

(d) 991

(e) 5926

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Q7. 720, 720, 714, 694, 654, 580, 470
(a) 654

(b) 714

(c) 694

(d) 580

(e) 470

L1Difficulty 3

QTags Wrong Series

QCreator AYUSH PANDEY

Directions (8-12): 3T/ ¥ Ycd® e H, & wHIHor (1) 3iv (1) few arw &) =
Ao # g AR 3R sw gl

(a) 3Ifx>y
b) Ifex=>y
() 3Ifex<y

(d 3Iex<y



(e) aﬁx=yﬂx3ﬂ?y$@ﬂﬁﬁé@?ﬂﬁﬁﬂﬁmwm%

Q8. (i)3x*-17x+20=0
(ii) 5y* - 28y + 15 =0
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY
Q9. (i)6x*=11x-4
(ii) 2y* =15y + 8
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY
Q10. () 2 (x-3)*=(x-3)
(ii) 5y + 6y = -1
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY
Q11. (i) 7x*+ 61x+40=0
(ii) 5y - 13y -28=0
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY
Q12. (i) x2—11x+24=0
(i) 2y? =9y +9=0
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Directions (13-15): f§T 1w gfara g#twTon I g #{ 3R 39 390 F YR W
e RFeq # RfFaT F-

Q13.1 (2x — 4)% = 49
LGBy + 7)2 =1
(@x<y
(b) x 3R y& &g FIg gay TUAT A8 ThAT ST ToheTT &.

() x>y

(dx<y

(e)x=y
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY



Q14.1.3x* — 5x—2 =0
IL.4y? — 24y 4+ 35 = 0
(@)xzy
(b)x<y
()x>y
(d)x 3R y& &ra «% gay Tafd A8 Far 31 I &.
(e)x<y
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Q5. L2 B ia-9
X14- * 11
II.? +2= n
(@x<y
(b)x<y
(c)x>y
(d)x=zy
() x 3R y& &g &g HaY AT AT fhaT ST Fhelm &.
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY

S1. Ans.(a)

Sol.

124 258 801 3268 16465 99006
x1+1% x2+23 x3+3% x4+47 x5+5° x6+67

Wrong number is 145.

S2. Ans.(d)

Sol.

4755 4674 4553 4384 4159 3870 3509

-81 -121 -169 -225 -289 361

| | l | ! |

9° I~ 13* 15° 17* 194



Wrong Number = 4158.

S3. Ans.(e)
Sol.

1463 1729 1801 1843 1863 1869

+(13%-13)  +(11%-11) +(9*-9) +(7%2-7) +5%-5)  +(3%-3)
Wrong Number = 1620.

S4. Ans.(d)
Sol.

10240 10240 5120 1280 160

Wrong Number = 5140.

S5. Ans.(c)
Sol.

8327 6611 5621 5117 4907 4847 4841

L N . I VI N

-(123-12)  -(10%-10)  -(8°-8) -(6%-6)  -(4*-4)  -(2%-2)

Wrong Number = 4870.

S6. Ans.(c)

Sol.

202 991 5926
x1-15 x2-16 x3-17 x4-18 -19 x6-20

Wrong number = 40

S7. Ans.(a)
Sol.



720 720 714 694 580 470
-0 3%

-20 -42 -72 -110
! f f 1 ! 1
1*-1 3°-3 5%-5 727 92-9 113-11

Wrong number = 654

S8. Ans.(e)

Sol.

I. 3x2-17x+20=0
3x2-12x-5x+20=0
3x(x-4)-5(x-4)=0
x=4,5/3

II. 5y*-28y+15=0
5y*-25y-3y+15=0
Sy (y-5)-3(y-5)=0
y=5,3%%
~ No relation

S9. Ans.(e)
Sol.
. 6x*-11x+4=0
6x*-8x-3x+4=0
2x (3x-4)-1(3x-4)=0
4 1
X=-=
3’2
II. 2y*-15y-8=0
2y?-16y+y-8=0
2y (y-8)+1(y-8)=0
-1
y:8!?

~ No relation

S10. Ans.(a)

Sol.

. 2(x*-6x+9)=x-3
2x2-12x+18-x+3=0
2x%-13x+21=0
2x%-6x-7x+21=0
2x(x-3)-7(x-3)=0

7
Xx=3,-
2



II. 5y*+6y+1=0
S5y’ +5y+y+1=0
Sy(y+1)+1(y+1)=0
-1
y=_1'?

X>y

S11. Ans.(e)
Sol.
L. 7x2 + 61x+40=0
7x% +56x +5x+40=0
7x(x+8)+5(x+8)=0
-5
Xx=-8 —
7
II. 5y*-13y-28=0
5y?-20y+7y-28=0
Sy(y-4)+7(y-4)=0
-7
y=4—

~ No relation

S12. Ans.(b)

Sol.

Lx?—11x+24=0
>x?—-8x—3x+24=0
>x(x—8)-3(x—8)=0
>x-3)x-8)=0
~x=30r8

IL2y2— 9y +9 =0
=2y2—-3y—-6y+9=0
= y(2y—3)—3Q2y—3)=0
= 2y —-3)(y—3)

=§0r3

o y
X =

<

S13.Ans. (c)
Sol.
L.(2x — 4)*> = 49

27 2

LGBy + 7)2 = 1



> vy = -2 8
y - ) 3

X >y

S14. Ans. (e)

Sol.

.32 — 5x—2 =0
32 — 6x+x—-2 =0
3x(x —2)+1x—2) =0
x—2)Bx+ 1) = 0

1

=2, —=
X 3

I.4y* — 24y + 35 = 0

4y* — 10y - 14y + 35 =

2y(2y — 5) =72y — 5)

2y -5Q@y—-7)=0
57

y:

X<y

0
7'

S15.Ans. (a)
Sol.

= 4x%? —13x+10=0
= 4x?> —8x—5x+10=0
4x (x—2)—-5x—-2)=0
(4x-5)x-2)=0

5

:—,2
XT3

= 2y2— 11y +14 =0
=>2y2—T7y—4y+14=0
=>yQR2y—-7)-2Qy—-7)=0
7
= 2=
y= 23
y 2 X

0



